Geometry CC
Bat'e Llessonl Distance WORKSHEET
nit

1. If the endpoints of/ﬁ__gre A(-4,5) and B2,-3),
what is the length of AB to the nearest tenth?

d= 4D+ (E--5)F
=\ 306 + 100

= \‘i\’akp z@

2. The endpoints of ;Q— are P(-3,1) and 0(4,25). Find the length of PQ.

AFNE3- W (125
= {49 +576

~{o1s =[5

3. The coordinates of the endpoints of FG are (-4,3) and (2,3).
Find the length of FG' in simplest radical form.

(EN[EEXN (3-)*
= \l Slo-d -

:\ITO— _-_-

0

4. Find. in simplest radical form, the perimeter of

APQR with vertices P(4.6), Q(0.9), and R(-4,-9),

GP g0y + (o-ay.

“\+9q ={zs =9

PR =B (o -

= o4 +¥22s ={284=\7

QR d= {01+ (@- 9%

= \X lo+>24% =\340-2185




Geometry CC
Midpoint and Slope Worksheet

1. Line segment AB has endpoints 4(2,~3) and
B(-4,6). What are the coordinates of the mid-

point of AB?
2+-4 346
% 'z

(“‘)’3{\

2. What are the coordinates of the center of a circle
if the endpoints of its diameter are A(8,-4) and

B(=3,2)?
<%+-3 A»&}
2 ) T

v 5 -\
2
3. Point M is the midpoint of AB. If the coor-
dinates of A4 are (-3,6) and the coordinates of
M are (-5,2), what are the coordinates of B?

oY _2
Z

B(-T“'?—) z )
~234y=-0 [ bry=4,
X == Y= -

4, Line segment AB is adi of circle O
whose center has coordinates (6,8). What
are the coordinates of point B if the
coordinates of point A are (4,2)?

Midpoint Formula Slope Formula
-\
(X ¥ X2 ) +ya) W Yas
L Z ) 7(2- =% ) __J

5. What is the slope of a line that passes through
the points (-2,-7) and (-6,-2)?

- S
-2- -0

=

6. What is the slope of a line passing through

points (~7,5) and (5,-3)?

5-3 3 _%
M=3-s a3

7. What is the slope of the line passing through the

points 4 and B, as shown on the graph below?
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Unit 11 Lesson 3

- Area of Polygons on a Grid

1f the sides of a polygon lie on the grids of the graph paper (horizontal or ve'rtical). Fhe lengths qf
the sides of the polygon can be found by simply counting. You have used this counting method in
the past to find such lengths.

Unfortunately, not all polygons are positioned so their sides lie on the grids of the graph paper.
When this happens we need to use more sophisticated techniques to find the lengths of the sides.

Find the area of AABC.
A ?A-.V
(’3'4) j I
2 v B
; (3.2)
0 N A
S4B .21V 7 I
v /11
sl C(12)
Mothais com B | Draw a "box"
Staround the figure.

[ Dealing with odd shaped pieces: |

Find the area of ABCD.

1" cpa
11

MabBdncom l 4.-3)

Example 1 Find the area of quadriateral ABCD with vertices
A(-1,1), B(3.4), C(8.5), and D(5.-3).

A

Areo. Rectan

M

(2)(Q)=T

AT =U()= 4
AT =23YW)=0

A 9]

A =4 (0 (S)=25
ATE =5 (©) ()=

AL =3 3)®) =12 |

3,5
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Example 2 Fud the area of quaduilateral ABCD with vertices
A(-4,2), B(0.5). C(3.3), and D(1,-5).

,LE = L (,3)(1—0:
=9 (73(%3 s
[ X g’/ AIU- :i(f\(ﬂ} =[1 S
‘ at =9
{\\\ | A]I ,2(2)(%)__31_‘,‘%.
zsan Ao, Ve
muo\ =70
10-34.5933 S]

Xa i ‘ 2 DE whose vertices
ample 3  Find the area of pentagon ABC -
- P are A(-2.-5), B(-2.2), C(2.4). D(5,2). and E(4.-2).
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Geometry CC
Date

Lesson 4 HW: Writing Equations of Parallel and perpendicular Lines -‘
1. Determine whether the given equations of lines are parallel (| |), Perpendicular (L) or Intersecting (x), i
a) 2x+4=y b) 5 c) Ix+5y=15 d) y=4x-3
y=-2x-3 =" 3x+5y=10 2y+12=8x
y=—ix+4 Y"L*X"(D

|| or L or@ | or@or X or L or x @or L or x

2. Write the equation of the line that is...

i .
a) parallel toy = -3x + 2 and goes through (1,5) in b) parallel to y = gx -4 and goes through (10,-2) in
slope intercept form.

slope intercept form.
g - -3 (x-1)

= & x= 10)
=t Lgx g

c) perpendicular to y = 5x + 4 through (-2,-3) in slope
intercept form.

d) perpendicular to y = -2x — 1 through (-5,2) in the
slope intercept form. Q

5= -is,(x 20 N-2= X+s}

[§ x+4:?

3. Write the equation of the perpendicular bisector 4. Write the equation of the perpendicular bisector

of AB,A(-4,4) B(4,8)in slope intercept form \ of 4B, A(-2,7) B {4, 11) in slope intercept form.p,~= '-g—

P AP (J—(-H—& uﬁ% e idpt - _av M

= V2

‘(O)(D\ '.('\)qy

Slope’ —7. Slope . —3
N- u 2 (x-0) N-4=-2 LX 1) *

EETICIN




WORKSHEET #1 —~ PATTERSON 2

: pie X=1 — S o
;. the slope Of QR 18 == and the slope of 57 is % If OF L'¥7, determine and state the value

A= | :_3_ Ax-B = -\ Xe<kts

| 3 TP Cay--i =

6. Two lines are represented by the equations 7. Line m and point P are shown in the graph below.
_-;-y=6x+10 and y = mx. For which value of m will
the lines be paralicl? g il
<D %miD \/ =-\2x-20

2) -3 g e (0 e
3) 3 ahdy i
4) 12 ' )

Which equation represents the line passing through P
and parallel to line m?

%

D y-3=-la+d

4) y+2=—%(x-3)

y ) L(X'QD\

0




3.6 WORKSHEET #1 — PATTERSON Name:

petermine the ratio of the direct _—
g ed line segment 4B when partitioned by point P. (Hint: A Is the Initial point)
B —

/ // '—‘"’"‘x
5N o S 1L

2. Determine the ratio of the directed line segment when partitioned by point P.

C PD G P H
+——0—0—o R P +———————9

a) Directed Line Segment DC b) Directed Line ﬁgment RT c) Directed Line Segment HG
: : y \

3. Determine the point P that partitions the directed line segment ABinto a ratio of 4:5,

where A (5,-4) and B (14,5). <S.1. __,.(lL\ S') )’Lf T 4 (S'-(*LD\

AN Xz Y2

4. Determine the point P that partitions the directed line segment ABInto a ratio of 1:3, B

where A (8,6) and B (0,10). (% —+ (O %3 (O x H (\ O~

XY X1 N2

ected line segment ABintoa ratio of 2:1,

5, Determine the point P that partitions the dir

whereA,(‘o‘,.r:!)andB)(ilz-/)L (O“' (3 O) S% = (\\ S)S

_ o
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Review: Unit 3-11 Test Coordinate Geometry

1. What is the slope of a line that is parallel to the line
whose equation is 3x - 2y = 77 \{_-‘ 3 X’l
P

== %

2. Thelines3y+1 33x+4 and2y+1=x-9 are
1) parallel M=% o« m= 3
2) perpendicular
3) the same line
(@ _neither parallel nor perpendicular>

3. Given directed line segment 4B » Where A(0,0)
and B(12,0). Determine the point P that
partitions the segment into a 1:2 ratio.

P(4, Q)

4. The two lines represented by the equations
below are graphed on a coordinate plane.
x+6p=12 —9 N= '.Gx-\-z.
e-=y-4 W\ .2 42
Which statement best describes the two lines?
1) The lines are parallel.
2) The lines are the same line.

3 e lines are perpendicular.
4) The lines Intersect at an angle othex;th@
90°.

5. Incircle O, diameter RS has endpoints
R(3a,2b-1) and S(a-6,4b+5). Find the
coordinates of point O, in terms of g and 5.
Express your answer in simplest form.m',d?'\”_

O (20-3, 36+2)

6. If BC has endpoints B(6,8), and C(8,4). Write
anequationlh_atreprcscntsfhe&m%i_w%
bisector of BC? ®C mCloY - (T )

m = -2
g,
N-C=3 "‘3)

7. Given the points A(~1, 2) and B(7, 14), find the
coordinates of the point P on directed line

segment AB that partitions AB in the ratio 1:3.
USE THE FORMULA.

(-\+n‘-(:+~\ 2 (4-2))

3
°(1,5)

8. Directed line segment ABis partitioned by poing
P into a ratio of 2:3. Which of the following
represent this relationship?

1) 3)

P
P B e B

2>.  z@ .

X
~
o
X

9. The midpoint of 4B is M(4,2). If the
coordinates of 4 are (6,~4), what are the
cooxdinates of B?

3(1,%5

10. What is the slope of the line containing the

points (3, 4) and (-5, 10)?

_\0-4
e

s By 8
R

11.  Which equation represents the fine that passes
through the point (=2,2)and is parallel to

|
P = - ?
) 2x+8.

\I-z.ﬂibﬁ’z)
2 )!:32\'—3 \"'2‘ " é.x +‘

y=zx+3

-
1 y=zx

4 yp=-2x+3
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i shoven below, with M6, 1) ang

,ﬁiﬂ- what is an equation of the line tha passes
,;,ougb point P(6,1) and is paralje] to m?

; Y
> _
4 y=3x-8 AR TR
\[3-—2-‘3—x-1'8_

13. Find the areg AND perimeter of AABC with vertices
A (-3, 1), B(1, 3), C(2, -4). Round values to the
nearest tenth.

>
O - N\AW S v

Y | C
b (2, -4)

;ﬁ 1= i
Yermatxer (distane Sorma)
AB= \1(.3-0"‘(\-3? =120

8¢ = Jirr > Gt 2 USO

AT = (et = (S0

P = {10 +¥o + {50 %0

A =

4. :
the diagran; below, A ABC has veniices A(4,3),
B(2,1), and €(7,3).
y
‘ 1 - 0y .
H ‘ | A '
AR R T N .
j h ,DC ;
W 1 I
; EF ’ ; i ) ; *
fr L .1 js o ;
S i Ly ‘
SRR |
13
Jhidfragsd
What is the slope of the altitude drawn from A to
e A 4o BC
t B
5 = sSlope BC:'Z:
2 P S
3 -4
Are

——————

/\reda\\y&‘- s(H=3S
Ax =z ()= ¢

Ax = (g} (5)) =4S

z
AOIGEERS
20

Avea = 35-20=\%
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